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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then
mark the correct choice on your answer sheet.

1-  Working on the assembly line was -—-———-- work because I did the same thing hour after
hour.
1) efficacious 2) monotonous 3) momentous 4} erroneous

2-  People are guilty of -——--- when they make judgments before they know all of the facts,
1) illusion 2) arrogance 3) avarice 4) prejudice

3~  Justin ——-- himself from the embarrassing sitnation by pretending he had to make a
telephone call.
1} extricated 2) extracted 3) exposed 4) expelled

4-  He was accused of manipulating the financial records to cover his ——-———-,
1) suspicion 2} scrutiny 3) fraud 4) paradox

5-  Since the jungle was =—-==---, we had to find an alternate route to the village.
1) permanent 2) vulnerable 3) redundant 4) impenetrable

6- Management refused to ----———- the union’s demands, so a strike costly to both sides
occurred.
1) capitulate to 2) withdraw from  3) impose on 4) grump about

7-  We had nothing in common, but despite our --——-- backgrounds and interests, my new
roommate and I became good friends by the end of the semester.
1) comprehensive  2) conscious 3) heterogeneous 4) haphazard

8-  Megan’s foreboding about going to class turned out to be -—- as the instructor gave a
surprise test for which she was completely unprepared.
1) qualified 2) justified 3) perplexed 4) wholehearted

9- If she had known how much of an —-———-- her student debt would be, she would have
found a different way to finance her education.
1) apphication 2) encumbrance 3 ) immunity 4) optimism

10- The mechanic examined the engine carefully but said he was not able to --——- —- the
cause of the problem.
1) pinpoint 2) denve 3) acquire 4) escalate

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3). or (4) best fits
| each space. Then mark the correct choice on your answer sheet.

Horticulture has a very long history. The study and science of horticulture dates all the
way back to the times of Cyrus the Great of ancient Persia, and has been going on
([ [ [ [E—— . with present-day horticulturists such as Freeman 5. Howlett and Luther
Burbank. The practice of horticulture can be retraced for (12) =———-—- . The cultivation
of taro and yam in Papua New Guinea dates back (13) —--—--- at least 69506440
cal BP. The origins of horticulture (14) ----—-——- in the transition of human
communities from nomadic hunter-gatherers to  sedentary or  semi-sedentary



Y axio 434A (+F 45) S0 38 dsgame (3903

horticultural communities, (15) ==————-—- a variety of crops on a small scale around
their dwellings or in specialized plots visited occasionally during migrations from one
area to the next.

11- 1) ever since 2) yet 3) that far 4) still
12- 1) many thousands years 2) many thousands of years
3) years of many thousands 4) many years of thousands
13- 1) from 2) for 3)in 4)to
14- 1)are laid 2) lay 3) lie 4) are lving
15- 1) cultivating 2) cultivated 3) that cultivated 4) to cultivate

PART C: Reading Comprehension:
Directions: Read the following three passages and answer the gquestions by choosing the best

chaice (1), (2), (3). or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

Probably one of the best examples of the progressive development of science would be
the development of atomic theory. The ancient Greeks debated over the continuous
nature of matter and two schools of thought emerged: matter is continuous or matter is
not continuous. The continuous 1dea was promoted by Anstotle and due to his high
regard among scholars that was the idea that flourished. However, there was no effort
made by the Greeks to prove or disprove this idea. During the Dark Ages alchemists
started experimenting and keeping records of their results, sending science on a
pathway of experimentation and discovery. Robert Boyle and his famous J-tube
experiment in 1661 gave the first experimental evidence for the existence of atoms. He
even used words similar to Democritus to describe the results saying that the air
consisted of atoms and a void between them. By increasing the pressure inside the J-
tube, some of the void was squeezed out, decreasing the volume. Slowly. experimental
evidence, including the work of Lavoisier and Priestly, to name a few, began to mount
and in 1803 John Dalton proposed the Modern Atomic Theory, which contamed 5
basic postulates about the nature and behavior of matter. Ben Franklin’s discovery of
electricity in 1746 sent scientists to work to understand this new “thing” named
electricity. J.J Thomson investigated a cathode ray tube and identified the negatively
charged particle in the cathode ray in 1897. His work was closely followed by Robert
Milliken, who gave the electron a -1 charge in his oil drop experiment.

16- What is the passage mainly about?
1) The continuous nature of matter
2) The development of atomic theory
1) Discovery of electricity
4) Two schools of thought in science
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17-

18-

19-

20-

21-

23-

Which of the following is implied in the passage?

1) The author is rather positive toward the works of the alchemists.

2} The Greeks tmed to reject Aristotle’s ideas of matter.

3) The Dark Ages alchemists believed matter was not continuous.

4) Democritus changed the direction of science toward experimentation.

What does the word “their” in line 7 refer to?

1) Results 2) The Dark Ages  3) Records 4) Alchemists

Which of the following statements is true?

1} The first experimental evidence for the existence of atoms emerged in the 16th
century.

2) The J-tube experiment, conducted by Lavoisier and Priestly, revealed that the air
consisted of atoms and a vacuum between them.

3) The o1l drop experiment, conducted by Robert Milliken, revealed the electron a -1
charge.

4) It was John Dalton who identified the negatively charged particle in the cathode ray.

What does the word “mount™ in line 13 mean?

1) Approach 2) Improve 3) Increase 4) Dominate

PASSAGE 2

Magnetism is a phenomenon in which certain materials, known as magnetic materials,

attract or repel each other. A magnet has two poles, a south pole and a north pole. Like
poles repel while unlike poles attract. Magnetic poles always occur in pairs known as
magnetic dipoles. One cannot 1solate a single magnetic pole. If a magnet 15 broken 1n
half, opposite poles appear at both sides of the break point so that one now has two
magnets each with a south pole and a north pole. No matter how small the pieces a
magnet is broken into, the tiniest unit at the atomic level is still a dipole.

A large magnet can be thought of as one with many small dipoles that are aligned
in such a way that apart from the pole areas, the internal south and north poles cancel
gach other out. Destroying this long range order within a magnet by heatng or
hammering can demagnetize it. The dipoles in a non-magnetic material are randomly
aligned while they are perfectly aligned in a preferred direction in permanent magnets.
In a ferromagnet, there are domains where the magnetic dipoles are aligned. however,
the domains themselves are randomly oriented. A ferromagnet can be magnetized by
placing it in an external magnetic field that exerts a force to line up the domains.

What is the first paragraph mainly about?

1) Magnetic materials 2} Like and dislike poles m a magnet
3) The phenomenon of magnetism 4) Magnetic dipoles

Which of the following statements is true?

1) In a large magnet, there are no internal south and north poles.

2) It is not possible to break a magnet into very small pieces

3) It 1s possible to 1s0late a single magnetic pole.

4) The smallest umt at the atomic level of a magnet 15 a dipole.

What does the word *it” in paragraph 2 refer to?

1) Magnet 2) Range 3) Order 4) Materal
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24-

25-

26-

27-

What does the word “while” in paragraph 2 signal?

1) Contrast 2) Time sequence

3) Cause and effect 4) Alternative suggestion

What does the word “exerts” in the last line mean?

1) Justifies 2) Applies 3) Resolves 4) Selects

Donald Arthur Glaser began his career of full-time teaching and research in the
Physics Department of the Umiversity of Michigan in the autumn of 1949, bemng
promoted to the rank of Professor in 1957, In 1959 he became Professor of Physics at
the University of California, at Berkeley. His main research interest during this period
was the elementary particles of physics, particularly the strange particles. He examined
various experimental techniques that seemed useful in this research and constructed a
number of diffusion cloud chambers and parallel-plate spark counters before finally
beginning to develop the ideas that led to the invention of the bubble chamber in 1952)
Since then he has worked on the development of various types of bubble chambers for
experiments in high energy nuclear physics, besides carrying out experiments on
elementary particles at the Cosmotron of the Brookhaven National Laboratory in New
York and the Bevatron of the Lawrence Radiation Laboratory in California. These
experiments gave mformation on the hifetimes, decay modes, and spins of the L°
hyperon, K® meson and S° hyperon as well as differential cross-sections for the
production of those particles by pions. Other experiments yielded information on pion-
proton scattering, parity violation in non-leptonic hyperon decay, and the branching
ratios in positive K meson decay.

Glaser has received many honors for his experiments, among which can be
mentioned the Henry Russell Award of the Unmiversity of Michigan, 1953, for
distinction and promise in teaching and research; the Charles Vernon Boys Prize of the
Physical Society, London, in 1958, for distinction in experimental physics; the
American Physical Society Prize (sponsored by the Hughes Aircraft Company) for his
contributions to experimental physics in 1959; and the award. in the same vear, of the
honorary degree of Doctor of Science by the Case Institute of Technology,

What did Glaser manage to construct before inventing the bubble chamber?
1) Positive K meson and particles like pions

2) Daffusion cloud chambers and parallel-plate spark counters

3) Particles like pions and parallel-plate spark counters

4) Diffusion cloud chambers and positive K meson

Which of the following is NOT mentioned as a place where Glaser did research and
experiments?

1) The Cosmotron of the Brookhaven National Laboratory

2) The Bevatron of the Lawrence Radiation Laboratory

3) The University of Michigan

4) The Case Institute of Technology
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28-  Which of the following did NOT occur in 19597
1) He became Professor of Physics at the University of California.
2) He was awarded the honorary degree of Doctor of Science.
3) He won the Charles Vernon Boys Prize of the Physical Society.
4) He was awarded the American Physical Society Prize.

29-  What does the word “yielded” in paragraph 1 mean?

1} Provided 2) Collected 3) Recovered 4) Analyzed
30- 'What does the word “which™ in paragraph 2 refer to?
1) Distinction 2) Honors 3) Experiments 4) Promise
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